20238 &= =014t

H £ 0l & AF & S

LB K=

Al A

A =2t
33 ol Mgt 25
ol AE=stkd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A =gt 36,306,660 33,291,412 3,015,248
= 2,200,000
Al 34,106,660
HOIZ Meldlgt 2= 33,034,095 31,834,960 1,199,135
= 2,200,000
Al 30,834,095
=g K& 1,663,000 1,741,000 A78,000
NA=HAH = 50,000 39,000 11,000
201 2egh=3| 35,000 35,000 0
01 At2t2ltl 35,000 35,000 0
OXE=2tHA 2= 35,000
203 HE=H] 15,000 4,000 11,000
03 A= PR FAI| 15,000 4,000 11,000
OXEz=eMA 2= 15,000
Hols2AcIxte 29 5,000 5,000 0
201 fer= 3| 5,000 5,000
02 S3=gHl 5,000 5,000
osE2= & HA 500
oxtgdtIsAdl S 4,500
HDIZ XMolAE 28 FUSBARA 24 1,370,000 1,370,000 0
301 LEtE NS 1,370,000 1,370,000
14 IIEt2d3 1,370,000 1,370,000
Od=2 ZAHIIES MHEBAILE FEULARHA
24= 560,000
Od = AU NAUE FUZANRE 2= 374,000
OXFAl CIMNOIZSEEIZ FUZANRH 24
= 436,000
HEAAANAME ZH0IS FOALAT 80,000 64,000 16,000
301 LEtE NS 80,000 64,000 16,000
14 IIEt2 83 80,000 64,000 16,000
O#4tits =2 AZH Y K& 80,000
HIIZXEIANE FHISXS L eastitd 40,000 40,000
301 EtE2 NS 40,000 40,000
4Bt 2as 40,000 40,000
OHPISXICIAE =HHEX S F=0latetet
ore 40,000
HOISXcIAE FeXAE2AM X2 65,000 60,000 5,000
301 2eEN=S 65,000 60,000 5,000
14 JIEt2d=3 65,000 60,000 5,000
oHIIEXcIAlE F2XAE AR XA 65,000
HYIZXCIAIE JIS284823 23 3,000 3,000 0
201 Ler=23 | 3,000 3,000
01 AtR2telHl 3,000 3,000




2A:

X XH -
o=

A& =8t}

[Uin e, i)

HIIE ™eldlgr 15

ol AE=stkd EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
| OHJISXCIAE JIs2Ea23 2Y 3,000
H2xt A=t A2 =8 A7 E9 50,000 50,000
207 AR 50,000 50,000
01 A1 50,000 50,000
OHN2At M=t & =8 H2ES 50,000
HIIZ MelAlg H4 24 17,770,000 14,347,000 3,423,000
= 1,600,000
Al 16, 170,000
HOIZX2l AIdE 38 289 257,000 257,000
201 Zet2 & 182,000 182,000
01 AtR2telbl 78,000 78,000
OHDISXel NEE 38 29 78,000
02 S3=24l 104,000 104,000 0
OHPIZSXel NEE S5 29 104,000
206 =4I 75,000 75,000
01 =4l 75,000 75,000
OHPISXel NEE S5 28 75,000
HI)ISEHME RE= 1,049,000 1,190,000 141,000
308 AHXIHMSO0IA 1,049,000 1,190,000 141,000
07 X2 EE2 1,049,000 1,190,000 141,000
olgd & A2 HIISHEREs 1,049,000
HFd AL TRAE 28 29 10,988,000 9,800,000 1,188,000
307 212to1d 10,988,000 9,800,000 1,188,000
05 elzte(& = 10,988,000 9,800,000 1,188,000
Oz A2 NHAHE ?I8 24 10,988,000
A2 A2ME BIE & Bl 2889 90,000 100,000 ~10,000
401 AlEHIZ S 0HbI 90,000 100,000 10,000
01 AlIZHI 90,000 100,000 210,000
O XHAME A2 28| 90,000
M= ZGM D] HE € HHl AMY 840,000 800,000 40,000
401 AIEHIZ SR 0HYI 840,000 800,000 40,000
01 A&l 840,000 800,000 40,000
OXFH ZAMYD| IHE & HUIAIY 640,000
O=EM ¢ 200,000
ZEHIISHEEWH S20H8 L ZZ3EHl A 50,000 50,000
401 AIZHIZ 20 50,000 50,000
01 AlZHI 50,000 50,000
OEE WREZ HESF S 50,000
HOIZ2 HMelAlE |2l 150,000 150,000
401 AIEHIZ SR THYI 150,000 150,000
01 A<l 150,000 150,000




2A:

A& =8t}

[Uin e, i)

M HOIZ2 ™o 2=
CHol: D2 X2IAE e 2 (Shol: % 2)
SA - BB - S(3H) - MRAY - BES Ol &b ot e HDS2
OAZE FOIHAAL SA S 100,000
O&EELZAZE S SAES 50,000
HIISHelAlE S401A &3 F0H 81,000 0 81,000
201 LEtEHH| 81,000 81,000
02 Bs249H| 81,000 81,000
OHDIIZX2IAIE 240t HiEsd 0l 81,000
MEMYD| AEK2 500,000 500,000 0
401 A& H|I L E0HY] 500,000 500,000
01 Al&H| 500,000 500,000
OMEMYD| KAEK ] 500,000
HERH ZAEHIISHE (AZHAIE XA 215,000 200,000 15,000
201 LBt AH| 15,000 0 15,000
01 AtR22teld| 15,000 0 15,000
OFFTA ZAHIISH(AZ)AIE XA
o 15,000
401 AlEHIZL L 0HH] 200,000 200,000
01 Al&HI 200,000 200,000
HFH ZAHDISH2(A2)AIE XA
o) 200,000
M= ZYEE =380/2 FHIAIY 2,800,000 600,000 2,200,000
= 1,600,000
Al 1,200,000
401 AlEHIL E0HY] 2,800,000 600,000 2,200,000
= 1,600,000
Al 1,200,000
01 Al&H| 2,800,000 600,000 2,200,000
OXFA ZAMHEE =20/ HHIAIE 2,800,000
= 1,600,000
Al 1,200,000
A0S R E A 500,000 0 500,000
401 A& H| L E0HY] 500,000 500,000
01 Al&H| 500,000 500,000
O&rAIE X2 A 500,000
NMFEHAE HEAIS 250,000 250,000
401 AlEHILE0HY] 250,000 250,000
01 Al&H| 250,000 250,000
OXFEHHEH HEASH 250,000
HIIZ2 Mes 29 22 13,601,095 15,746,960 N2,145,865
= 600,000
Al 13,001,095
A2E=SHESE A Al 2te| 315,000 519,960 A 204,960
201 LEt2AH| 265,000 245,960 19,040




A AE=gt
3 HolE XM2Igt 25
of o

Eelr HDIZE HEs 29 2 (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY

01 AtR2telbl 190,000 170,960 19,040
O+=2ZA =2 42,000
OYAD|=2e|Ed =2 125,040
(O s=snalil 4,960
Os2lXl Meldl 18,000

02 3224l 75,000 75,000 0
oZcls Bl= S 36,000
OZels ANEEBIsNEl S 39,000

401 AlEHIZ S OHbI 50,000 274,000 A224,000

01 AlZHI 50,000 274,000 A224,000
AHLX AlE S 50,000

SASMD| QKRS XMeld] 6,923,232 6,000,000 923,232

307 212t01& 6,923,232 6,000,000 923,232

05 eIzt = 6,923,232 6,000,000 923,232
OSASXD| 2I2t9IE Meld 6,726,232
OHVIZXM=2RE2 197,000

CHEEDIZ 22l 2 AIE2Y 1,720,055 1,890,000 169,945

201 L= 90,000 90,000 0

01 AF2-2t2ltl 40,000 40,000 0
OUEHIISHEY 22| & AME2E 40,000

02 324l 50,000 50,000 0
OUEHIISHEE 2l & AE2E 50,000

401 Al HIZL S 0HYI 1,630,055 1,600,000 30,055

01 Al&H| 1,630,055 1,600,000 30,055
OUEHIISHEY 2| & AME2S 1,630,095

MM 2AE el 1,566,808 1,800,000 A233,192

307 212t01™ 1,566,808 1,800,000 N233,192

05 glzt2(&= 1,566,808 1,800,000 N233,192
oMgE3Medl 22t & X eld] 1,562,808
OHJIESXN=2RE= 4,000

HFA ME2AH OIS 29 376,000 370,000 6,000

307 212t01& 376,000 370,000 6,000

05 eIzt = 376,000 370,000 6,000
OMEEHH CAlIE /I 22 376,000

HHOIItAD| B =AMAAIE & X 600,000 1,200,000 600,000
= 600,000

401 AIEHIZ SR HYI 600,000 1,200,000 600,000
= 600,000

01 AlZHI 600,000 1,200,000 600,000
OBIOI2ItA J[EE =AMAAIE X 600,000
= 600,000

BHOIOtAD| Bt = ASSEAY 2,100,000 0 2,100,000
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SA =2t
3 HPS(MHFA=E)
SRl LR HeHXIS (KR e=2tt) (S &)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
HOISXCIAIE EX012 1,000,000 1,000,000
(VAP TSE= 1,000,000 1,000,000
01 JIsdES 1,000,000 1,000,000
OHPISXcIAIE X112 1,000,000




